
Amphenol 

D Subminiature Interconnects 
 

F-7 

 

DSub HD/G17SH Series High Density Solder-pot for Low Volume Terminations 

Most popular Part Numbers noted below. 
Both HD and G17SH conform to Mil-C-24308. 
HD is supplied form Europe while G17S is 
supplied from ASIA. 
 

Electrical 
Current   – 3A 
Voltage   – 250VAC/rms 60Hz 
 

Mechanical 
Durability  – 75 Cycles 

Materials  
HD  – Tin plated Steel 
G17SH  – Tin/Lead over Nickel 
     plated Carbon Steel 
Insulator  – 94V-0 thermoplastic 
Contacts Pin – Brass 
Contacts Sockets – Phosphor Bronze 
Finish  – Gold Flash 
Board-locks – Phosphor Bronze 
Screw-locks – Brass 

Available Upon Request 
► 78 Way Versions 
► Various Contact Finishes: 15µ”Au, 30µ”Au 
► Various Shell Finishes: Zinc Chromate or Nickel 
► Various Screw Locks: #4-40, M3 
 
Accessories 
Hoods:  – Page F-9 

Series HD G17SH Dimensions (mm) 
Gender Positions Part Number: Part Number: A B C D E 

15 Way 717HDE15P G17SH1510110 30.84 24.99 16.92 16.24 19.28 
26 Way 717HDA26P G17SH2610110 39.24 33.32 24.70 24.56 27.51 
44 way 717HDB44P G17SH4410110 53.04 47.04 38.96 38.38 41.30 M

al
e 

62 Way 717HDC62P G17SH6210110 69.32 63.50 55.42 54.76 57.71 
15 Way 77HDE15S G17SH1500110 30.84 24.99 16.92 16.24 19.28 
26 Way 77HDA26S G17SH2600110 39.24 33.32 24.70 24.56 27.51 
44 way 77HDB44S G17SH4400110 53.04 47.04 38.96 38.38 41.30 

Fe
m

al
e 

62 Way 77HDC62S G17SH6200110 69.32 63.50 55.42 54.76 57.71 
Detailed Part Number System Common Part Specifications 
 
 
 
 
 
 
 
 
 
 
 
 

PNS17SH Rev.A, DSUB-G17SH1500112-25 Rev.A, E5.B 
 

DSub HR/G17RH High Density Rear Release Crimp Contact for Volume Termination 
Most popular Part Numbers noted below. 
Both HR and G17RH conform to Mil-C-24308. 
HR is supplied form Europe while G17RH is 
supplied from ASIA. 
 

Electrical 
Current   – 3A 
Voltage   – 250VAC/rms 60Hz 
 

Accessories – Hoods Page F-9 

Materials  
HR  – Tin plated Steel 
G17RH  – Tin/Lead over Nickel 
     plated Carbon Steel 
Insulator  – 94V-0 thermoplastic 
Contacts Pin – Brass 
Contacts Sockets – Phosphor Bronze 
Finish  – Gold Flash 
Durability  – 75 Cycles 

Available Upon Request 
► 78 Way Versions 
► Various Contact Finishes: 15µ”Au, 30µ”Au 
► Various Shell Finishes: Zinc Chromate or Nickel 
► Various Screw Locks: #4-40, M3 
 

Tools (HR Series only) 
Insertion/Removal Tool- 17D438SP 
Crimp Machine - 970MC 
Crimp Die 24-28AWG - 973MC 

Housing Series HR G17RH Dimensions (mm) 
Gender Positions Part Number: Part Number: A B C D E 

15 Way 777HRE15P G17RH115100 30.84 24.99 16.92 16.24 19.28 
26 Way 777HRA26P G17RH126100 39.24 33.32 24.70 24.56 27.51 
44 way 777HRB44P G17RH144100 53.04 47.04 38.96 38.38 41.30 M

al
e 

62 Way 777HRC62P G17RH162100 69.32 63.50 55.42 54.76 57.71 
15 Way 177HRE15S G17RH015100 30.84 24.99 16.92 16.24 19.28 
26 Way 177HRA26S G17RH026100 39.24 33.32 24.70 24.56 27.51 
44 way 177HRB44S G17RH044100 53.04 47.04 38.96 38.38 41.30 

Fe
m

al
e 

62 Way 177HRC62S G17RH062100 69.32 63.50 55.42 54.76 57.71 
For HR Series 10K/Reel Left Hand Feed For G17RH Series 10K/Reel Left Hand Feed Crimp Contacts 24~28 AWG 22~28 AWG 

Pins for Male Hse. Part Number: 17HRD2M1110G G17HRC1014 
Sockets for Female Hse. Part Number: 17HRD2F1110G G17HRC0014 
Detailed Part Number System Common Part Specifications 
 
 
 
 
 
 
 
 
 
 
 
 

PNS-17RH Rev.A, DSUB-G17RH1ST-25 Rev.B, E11/A 
ASF-D/AMTA 

 
 
 
 
 
 
 
 
 
 
 
 

 

 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 10°

2.29±0.05 (.09±0.002)

A±0.38 (.015)

B±0.13 (.005)

C±0.13 (.005)
D±0.13 (.005)

Ø3.05 (.120)

POSITION #1

1.
98

1.
98

 (
.0

78
)

8.
38

±0
.1

3 
(.

33
±0

.0
05

)

12
.5

5±
0.

38
 (

.4
94

±0
.0

15
)

7.
9±

0.
13

 (
.3

11
±0

.0
05

)

10.72 (.422)

E±0.13 (.005)

12
.2

 (
.4

8)

5.
9 

(.
23

2)

12
 (

.4
72

)

11
 (

.4
33

)

6.
1

(.
24

0)

11
.2

 (
.4

41
)

3 
(.

11
8)

PLUG SOCKET

5 
(.

19
7)

 

 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 

D±0.13 (.005)

C±0.13 (.005)

B±0.13 (.005)

A±0.38 (.015)

10°

1.
98

 (.
07

8)
1.

98

8.
38

±0
.1

3 
(.3

3±
.0

05
)

12
.5

5±
0.

38
 (.

49
4±

.0
15

)

7.
9±

0.
13

 (.
31

1±
.0

05
)

2.29 ø3.05 (.120)

POSITION #1

numbered cavities

PLUG SOCKET

E±0.13 (.005)

11
 (.

43
3)

5.
9 

(.2
32

)

5.
2 

(.2
05

)

10
.3

 (.
40

6)

11
.2

 (.
44

1)

6.
1 

(.2
40

)

10.72 (.422) 

   G17SH XX XXXXX  
HD DSub CONNECTOR    FLANGE MOUNTING OPTION 
Solder pot      0: ∅3.05mm clear hole 
      1: #4-40 threaded hole 
NUMBER OF POSITIONS     2: #4-40 threaded screw-lock 
15: 15 Position         installed 
26: 26 Position     3: #4-40 threaded hole with 
44: 44 Position          #4-40 threaded screw-lock 
62: 62 Position          bulk-packed 
      4: M3 threaded hole 
CONTACT STYLE     5: M3 screw-lock installed 
0: Receptacle      7: #4-40 threaded screw-lock 
1: Plug          clinch-mounted installed 
       
CONTACT FINISH     BACK SHELL FINISH 
0: Gold Flash      0: Zinc chromate 
1: 15µ” Gold     1: Tin/Lead over Nickel 
2: 30µ” Gold  FRONT SHELL FINISH  2: Nickel 
  0: Zinc chromate    
  1: Tin/Lead over Nickel     
  2: Nickel      

   G17RH XX XX 0X           
HD DSub Crimp type    FLANGE MOUNTING OPTION 
Cable Mount      0: ∅3.05mm clear hole 
      1: #4-40 threaded hole 
NUMBER OF POSITIONS     2: #4-40 threaded screw-lock 
15: 15 Position         installed 
26: 26 Position     3: #4-40 threaded hole with  
44: 44 Position          #4-40 threaded screw-lock  
62: 62 Position          bulk-packed 
78: 78 Position     4: M3 threaded hole 
      5: M3 screw-lock installed 
CONTACT STYLE     7: #4-40 threaded screw-lock 
0: Receptacle         clinch-mounted installed 
1: Plug       
       
FRONT SHELL FINISH      
0: Zinc chromate      
1: Tin/Lead over Nickel     
2: Nickel      

 
 

For ‘G’ Part Numbers 
Suffix may added. 
This Suffix is for. 

internal use mainly 
Additional Suffix ‘EU’  

or ‘LF’ will be added for  
RoHS compliant product. 
For other Part Numbers 
Add Prefix ‘L’ for RoHS 

Compliant product. 
 

 

 
 

 

 
For ‘G’ Part Numbers 

Suffix may added. 
This Suffix is for. 

internal use mainly 
Additional Suffix ‘EU’  

or ‘LF’ will be added for  
RoHS compliant product. 
For other Part Numbers 
Add Prefix ‘L’ for RoHS 

Compliant product. 
 

 

 
 

 



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /ENU (Use these settings to create PDF documents with higher image resolution for high quality pre-press printing. The PDF documents can be opened with Acrobat and Reader 5.0 and later. These settings require font embedding.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308030d730ea30d730ec30b9537052377528306e00200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /FRA <>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


